6-1 TAX TABLES,
WORKSHEETS, AND
SCHEDULES

Advanced Financial Algebra



THERE ARE MANY DIFFERENT TYPES OF
TAXES

* Property tax on property you own

* Sales tax on items you buy

* Income tax on money you make, etc.



FEDERAL INCOME TAX IS COLLECTED BY
THE I.R.S. (INTERNAL REVENUE SERVICE

* Your filing status affects how much income tax you pay.

* Single

* Married filing jointly (together)
* Married filing separately

* Head of household



EXAMPLE #1

* Ron is single and calculating his taxes with a taxable
income of $51,482.00 using the tax table. How much

doe S Ron Owe in taxe S? High-Income Americans Pay thj__hﬁority e ——

The Top 1%
Pays 39.5% of Taxes




EXAMPLE #1 SOLUTION

If line 43

{taxable And you are—

income) is—

At But Single [Married |Married| Head

least  less filing [filing |ofa
than jointly* |sepa- | house-
1 1 ately | hold
Look at the appropriate row for his rately | ho
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income of $51.482.00 which falls
between $51,450 and $51,500 to find out
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EXAMPLE #2

* Maria and Don are married taxpayers filing a joint reture
with a taxable income of $153,900. Use the tax schedule
below to calculate their tax.

if your filing status is Married filing jointly or Qualifying widow(er)

If your taxable The tax Is:

income Is: of the

But not armount
Over— over— over—

$0 $18,450 IRty |1 b $0
18,450 74,800 $1,845.00 + 15% 18,450
74,900 151,250 10,312.50 + 25% 74,900
151,200 230,450 29,387.50 + 28% 151,200
230,450 411,500 51,577.50 + 33% 230,450
411,500 A64 850 111,324.00 + 35% 411,500
464,850 129,996.50 + 35% 464,850




EXAMPLE #2 SOLUTION

* They use this row of the table:

230,450 29,387.50 + 28%
* and pay $29387.50 + 28 % of income over $151,200

 which is $29387.50 + .28 * $2,700
» for a total tax bill of $30,143.50



ASSIGNMENT: PG 336 #2-9, 17

Use these excerpts from a tax table to answer Exercises #-s

W e 43 ".f lir 43 H line 43
(taxabie And you are — (taxable And you are — (taxable And you are —
INCOMa) is— iNcome) is— NCOMe) is—
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ASSIGNMENT: PG 336 #2-9, 17 CONT.

Determine the tax for each filing status and taxable income amount.
a. single $57.723

b. head of household $60.950

c. married filing jointly $63,999

d. married filing separately $57.521




ASSIGNMENT: PG 336 #2-9, 17 CONT.

b. i= 563411

i oSSR AR
C. 1= 0L LS

d. i =$63,301

* 5. Given the filing status and tax, identify the taxable income interval that was used to
determine the tax.

* A) head of household $9,404

* B) single $11,775

* C) married filing jointly $7,699

* D) married filing separately $10,200



ASSIGNMENT: PG 336 #2-9, 17 CONT.

; % . H6-9
Use the Schedule 7 to answer Exercises

Schedule Z-1f your filing status is Head of household

If your taxable The tax is:
incormne is: of the

But not armount
Over— over— over—

$0 $13,150 S0
13,150 50,200 $1,315.00 + 15% 13,150
50,200 129,600 6,872.50 + 25% 50,200
129,600 209,850 26,722.50 + 28% 129,600
208,850 411,500 49,192.50 + 33% 209,850
411,500 115,737.00 + 35% 411,500
439,000 125,362.00 + 39.6% 439,000




ASSIGNMENT: PG 336 #2-9, 17 CONT.

Calculate the tax for each taxable income of a head of household.

a. 5400000

). $10,954

- 5108962

d. $209. 850

come would a taxpayer have to pay $26,277.50 in taxes?



ASSIGNMENT: PG 336 #2-9, 17 CONT.

Kelly’s taxable income is $110,000. Approximately what percent of her taxable income is her tax?




ASSIGNMENT: PG 336 #2-9, 17 CONT.

Use the tax table to calculate the tax of a head of household taxpayer with a taxable mcome of $27 811.

If line 43
(taxable And you are —
income) is—
At But Single Married |Married | Head
legst lags liling !iling of a

than jointly* [sapa- | house-

rately | hold
Your tax is —

27,000

27000 27,050
27050 27,110
2710 27,150
21150 27,210
272000 27,250

27,250 27.300
2730 27,350
27,350 27400
27400 27,450
27450 27,510

27,500 27,550
21,550 27,600
27,600 27,650
27650 27.7TiH
27,700 27,750

21,750 27,810
27800 27,850
27,850 27,Wik)
27500 27,950
27,950 28,1HK)




